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Secondary Education in England

In England, children start secondary school at the age of 11. In the first two years of
secondary school, all the students study the same 12 subjects. They are: English, maths, scier
design and technology, information and communication technology, history, geography, a foreig
language, art and design, music, citizenship and sport. When students are 14, they can choose
subjects that they like, but some subjects (e.g. maths, English, science, and sport) are st
compulsory.

At the age of 15-16, students take national exams called GCSEs (General Certificate c
Secondary Education exams). After these exams, about 25% of students leave school and fi
jobs. The other 75% stay at school. They study two, three or four school subjects and tak
advanced level exams (‘A levels’) when they are 18.

Most students in England (about 90%) go to state secondary schools. State schools are free.
The other 10% go to private schools. Some of these schools are very famous, and very expensi
For example, it costs about £24,000 a year to study at Eton College!

Adapted from ‘Aim High’ (student book 1)
Tim Falla /Paul A. Davies/
Paul Kelly/Allistair Mac Calun.

Oxford University Press.

PART ONE (14 pts)

A/-Reading Comprehension (07 pts)
Read the text carefully and do the followingiates:

Activity One (2 pts): Answer the following questions

1- Do English children begin secondary school at eleven?
2- Do all students leave school after the GCSE exams?

Activity Two ( 3 pts): Match each idea with the coresponding paragraph

Paragraph 1 Exams at 16 and 18.
Paragraph 2 Types of secondary school.

Paragraph 3 Subjects at secondary school.

Activity Three (2 pts):
1-Find in the text words that are closest in meaningp the following:

1- KIdS = .o 2-select= ..o,

2-Find in the text words that are opposite in meanig to the following:
1- before #................ 2-cheap #...cccovvvvvvinnnnnnn.

2 o limie



B/- Mastery of Language (07pts):

Activity One (2pts): Supply the punctuation and thecapital letters where necessary

english students have to wear a school uniform but american ones don'’t

Activity Two (3pts): Reorder the following words toget coherent sentences

1- can go/./to pre-school classes / in Algeria / Children / at the age of 5
2- is / between 6 and 16 /. / Education / compulsory
3- the BEM exam/ at the end / Students /. / take / of middle school

Activity Three (2pts) : Find in the text four words that have the following sounds

/eil ( name) /ail (my)

PART TWO: Written Expression (06pts)

Your English penfriend asked you for information about the middle school system in Algeria
to write an article for her/his school magazine. Write her/him a letter about the Algerian middle
school system

Write about:

- The subjects you study
- School regulations (Rights and duties)
- Term exams / BEM

Do Not Sign Your Name

2 o 2imde



201301 > 8,35 o sl ) B31g Olonsal By S AR ;83U okl I g B sadl il
> ;
M‘ : LYl palis
Esaxa| 3l
14pts PART ONE
O07pts | A/- Reading Comprehension
02pts | Activity One:
1-Yes, they do. / Yes. / They do. / Yes, English children start secondary school
01 pt | ateleven (11)./ At eleven (11)./ Eleven (11).
Note: If a candidate writes :
-“In England children start secondary school at theage of eleven.”, give 01pt.
2-No, they don't (do not). / No. / They don’t ( do at). / Not all students leave
1ot school after the GCSE exams. /Some students do. /Some students leave schog
P after the GCSE exams./ Some students leave school at the age of 15-16. /Som
students leave school when they are 15 — 16. /( Only) 25% (a fourth) (1/4) (a
quarter) of the students leave school after the GCSE exams./ 75% ( %) (three
fourths) (three quarters) do not leave school after the GCSE exams.
03pts | Activity Two:
1 pt Paragraph 1 Exams at 16 and 18.
1 pt Paragraph 2& Types of secondary school.
1 pt Paragraph 3 Subjects at secondary school.
02pts | Activity Three:
Olpt | Synonyms
0,5pt x2 | kids = children
select = choose
Olpt | Qpposites:
0,5pt x2 | before #after
cheap #expensive
07pts | B/- Mastery of Language:
2pts | Activity One:
0,5ptx4 | English students have to wear a uniforpbut American ones don’t
03pts | Activity two:
1ptx3 1- Children can go to pre-school classes at the age of 5 in Algeria.
ptx 2- Education is compulsory between 6 and 16.
3- Students take the BEM exam at the end of middischool.
Note: If a candidate writes:
1- In Algeria, children can go to pre-school classeat the age of five.
3- At the end of the middle school, students takéné¢ BEM exam.
give 0 pt because the capital letter (beginning okstence) is provided in the
subject paper.

D
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02pts
Activity three:

/eil name /ail my
Education, age, same, Science, design, like, find, (90 %),
information, communication, |ninety, private, high, (25%) twenty-
they, take, stay, A (A level), five,( 75%) seventy-five.
eighteen, 18, state, famous,
Aim, Davies.

0,5pt x4

PART TWO. Written Expression. _
Assessment Rubric

06pts Criteria Good Fair Poor
-Topic: students - Topic: students - Topic: very little
describe the middle describe the middle | reference to the
school system. school system. topic (1 or 2
Relevance | -All the ideas are - Some ideas are sentences)
related to the related to the topic
(2pts) topic.(1pt) (three ideas ). (0.5pt)
-Format: correct; - Format: correct; - Format: correct /
students write a students write a or incorrect
letter .(1pt) letter. (0.5pt)
(accept a letter)
(2pts) (1pt) (0.5pt)
- Ideas are well - Some ideas are well - Ideas are not well
organized. organized. organized /
- topic sentence / 4 or | - topic sentence /no | difficult to follow.
more supporting conclusion - No topic
Organization | sentences/ conclusion | - no topic sentence / | sentence/no
- All the sentences are | (no) conclusion. conclusion.
(2pts) linked correctly. - 2 or 3 supporting - The sentences
Sentences. are not linked

-Some sentences are| correctly.
linked correctly.

(2pts) (1pt) (0.5pt)

- correct use of present| - correct use of - incorrect use of
simple/prepositions present simple present simple/
/adjectives/frequency | - use of prepositions/| prepositions/

Linguistic adverbs. some/ adjectives / adjectives.
Resources | - use of link words. frequency adverbs. | - no link words
- vocabulary varied. - use of 3 link words. | - vocabulary
( 2pts) - vocabulary not (very) limited.
varied. - more than 6
- 3 mistakes are mistakes(any kind
accepted. of mistakes)
(2pts) (Apt) (0.5pt)

Note: If a candidate is out of the topic, DO NOT take into consideration (DO NOT
MARK) organization and linguistic resources. MARK the format only.
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Texte:

Passer trop de temps sur le net endommage le cerveau. L'Internet peut-étre une véritat
drogue. Certains internautes sont devenus tellement accros au web que leur addiction peut &
comparée a la consommation d'alcool ou de drogue.

Des chercheurs de l'université de Worcester au Royaume Uni se sont penchés sur le suj
Et selon eux, la dépendance au net peut avoir des conséguences aussi graves que l'addictic
certaines drogues ou boissons alcoolisées. Selon ces scientifiques, les résultats sont les mén
outre un changement de comportement chez la personne accro, on peut également constater
problemes neurologigues. Ce constat a été établi aprés que les chercheurs ont comparé
scanners des jeunes gens accros au net avec ceux de jeunes ayant un rapport moins obsessic
avec le web.

Apres analyses, il s'est avéré qu'une détérioration de la matiere responsable du traiteme
des émotions, de l'attention et de la prise de décision était visible chez les accros du ne
[...] "J'ai vu des personnes qui ont arrété leurs études universitaires, qui ont raté leurs exame
parce qu'elles n'étaient plus capables de se connecter émotionnellement a quelque chose d'au
confie la psychiatre britannique Henrietta Bowden Jones. Et selon elle, c'est la société moder
qui est a blamer. "On se connecte parce que la vie moderne nous y oblige" explique-t-elle.

Le Quotidien d'Oran
Lundi 16 janvier 2012

Questions

I-Compréhension de I'écrit: (13 points)

1. Quel est le theme de ce texte ?

2. Ce texte est :
a) un conte.
b) une lettre.
C) un article de presse.
Choisis la bonne réponse.

3. "Certains internautes sont devenus accros au.web"
Cette expression veut dire :
a) les internautes ne peuvent plus se passer du net.
b) les internautes n‘aiment pas le net.
c) les internautes aiment peu le net.

4. "Des personnes arrétdaurs études universitaires".
Donne le contraire du mot souligné dans la phrase.

2 o limie



5. Réponds par vrai ou faux :
a) la dépendance au net peut avoir des conséquences banales.
b) I'addiction au net entraine des problemes de santé.
c) les chercheurs comparent les scanners des internautes accros aux scanners des fumeurs.

6. Donne un titre au texte.

7."J'ai vu des personnes qui ont arrété leudestuniversitaires”, confie la psychiatre.
Réécris cette phrase au style indirect.

8."Certains internautes sont devenus tellement a@raveb que leur addiction peut étre
comparée a la consommation d'alcool ou de drogue".

a) quel est le rapport exprimé dans cette phrase?

b) exprime ce méme rapport en utilisant une structure équivalente.

9. "On se connecte parce que la vie moderne nobsiged explique-t-elle.
Mets les verbes de cette phrase au futur simple de l'indicatif.

10."J'ai vu des personnes qui ont arrété leudestuniversitaires, qui ont raté leurs examens".
Compléte :
J'ai vu une personne ...

[I-Production écrite: (07 pts)

Nombreux sont ceux qui pensent que l'Internet estrdeun danger pour les jeunes. L'Internet
est-il uniguement un danger a classer parmi les drogues comme le soulignent les chercheurs?

Tu vas rédiger un texte pour essayer de donnewvbegages de I'Internet en justifiant ton avis
a l'aide de deux arguments et un exemple.
Tu emploieras le présent de l'indicatif en utilisant les articulateurs qui conviennent.

2 o 2imde



2013019 1395 o gl andedl B3lgd 1OLeY T A & s drd el )

Olelw 134l dond ) G2l 1B Lt
: e Tday) yalic
I- Comprehension de I'écrit : (13 points)
1 1 1) Les dangers de l'Internet
1 1 2) Réponse c : article de presse.
1 1 3) Réponse a : Les internautes ne peuvent plus se passer du net.
1 1 4) Arrétent# poursuivent — continuent
15 0.5 | 5)a) faux
0.5 b) vrai
0.5 c) faux
1 1 6) Les dangers de l'Internet.
L'Internet et les jeunes
L'Internet.
1 1 7) Style indirect : La psychiatre confie qu'elle a vu des personnes qui ont &
leurs études universitaires.
2 1 x 2 | 8) a) Rapport = conséquence.
b) si... que - donc - alors — si bien que.
1.5 |0.5x3]|9)...seconnectera ... nous y obligera... expliquera —t-elle.
2 05. x 4| 10) J'ai vu une personne qui a arrééetudes universitaires, qui a ras
examens.
[I- Production écrite : (07 pts)
Pertinence
Emploi correct de la langue
Cohérence

Arrété

Ioel da =



e id) &) RSN &y 1 131 &y ) 50!

Sl y CUbwat gb 1 OF gl
2013 01 > 1533

£ ) 2 155
.h...a}:l\ ‘,.,la:}\ 83lgd Olbuwsl

A g dslw 3l

8L g daydall sl 183k Gyl

(M 12) BIET Y
(hm 06) ) el

e ) gl sl edead amy B0 (e (L) Ay gane i

) Jyaal) JaaY

oabaia) s glii 55k

g5l aagll gl 429

¢ Laal)

Ol

s

¢ Ll

-
N
w ==
N

NS
00 Sz
© e

]

[N
o
[N
[N

=
>
=
> P4
S

19 20 21 22

K 7% o ==&

18

]

Ny Loy ULA Slaly Jsaall Jasl -1
.3§l$l\t$53~ma L;h: L@ia L¥§<)}J JE:;"ZZ

(Lalds 06) = SEN ¢y el
eyl i 320 G Ui (1) 4850 S
AR 53] (5558l Jaalll dnal) dageall cuSi -1
S pa (gosil il 138 L 3aT Ll Al g5 Le =2
e a4kl o3 il (A (adill Guia 23a -3

2 o limie



(.EIL' 08) :‘f_'lfd\ &)
::\E\ALAA‘;(\ duniagll
oyiale TG e A0 dyavead) VAL Al Anglially CadSH Ban g cla JaaY

e 4ilialy (s dana tdole —
e asliad EAIEPWEN taaa] —
Al 45lly ( dana e -
o LS ) cul€h Ayl Sle agie calley eyl agale ¢35 eV lall el Gl e oyl sl
(1) dadl b e

oo Ryl A1 lagl Jls
pni T sl oy 132 U5l
Y byl 4uHlea
pxd Qenlal) Jlazial Je ol
e’.J
8 S

Dl
pex
Y
pad

Q) 8 AL Gl
5508 | Dlgie | Bym asl) 8 ASlgiua) anally culy Sl 408
DA ) i) sine Ll e Aldasd) Glasleall (1) Al

Y
Y
las

rlilii€a g 488 yall G e lalaic

ey Jale (e S e anall Aily Gled  —1
Asanal) Ll 8 aNL GalaaY) Gigan 401 L8 -2
O et il A gas S gl U - ) -3

2 o 2imde



2013 01y :3y55  Low sl dadt B31gd Olowsal ¢ s b B3 pod) Ayl
i g dslw Ul L1 g da el e}ls«:séb b

- ot i
Ll 06 :JgY) el
Jsaall -1
oabaiay) sy Lgl85 3k 90all anagl) gils Ly
ssadll 3yl cuiall S| oLl
8x0.5 sl 3kl Ll Gaaleal | (g )
06 axlill Gykall apula 5 dawd palaal |l
by gsanll 3yl | Wl
BYRREE)
01 AUl ) awally o Liall -
oL ilually oLl ¢Lally oyl —
Llii 06 : A (o pail)
01 (e 23 = tigall Ll -1
01 (Aardia) dpuis A8 AN £ -2
15 Alleie 2l 8 aa g Y ¢ 2 Gliaall e oY sl -
06 01 K3 Agal) da gl Al el un -3
1.5 Y einll Guall agagl s dalaal) -




slally aghall agle sdala 2013 lsa ¢ b9 Jacugiall aglail 5algd + claia) g gcasal Aadgadll lay)

dadal) Lalady) Ladagl arelti A<u
gsaxall | 3 jaa o i gl Dbl JVgusdl
Lladl Gl 2aay =1 1o
adlly SlpSull JslisiS - rdale xie -1
Gomlall Jlexinsd e lady) = Jalag)
Lalpl) L jles pie -
0.5
gl Jlanial
0.5 Gty IS cildanall Jlexind — 14
3alall
0.5 Ly e gluly ) e S llly A3ladl (g Jayyy —1a alay)
ol 8 AL Gl AT Sy -1, 200
o sl = el Ul Ay — Gl el - “alasl
rand) e Al dpaed) Al Qi -
03 AV sl ) AL an gy 3 Al 5yl & (ubuay) 385 —
gl Jlanial
01 (2 438 ) dusandd) Gl Ay Slidane Calagi —1a
3alall
Ly e Coglad Jlaaind -1,
a5 Sy -1, Som
- \ . \ _— _
paitusal) aucadll Cains PR
15 fimy S 2 Jol b -
03 Ll 3y o) b syl -
s el 4038l Sl 8 L pel) 4ileni€a Jentiony 1 w
' S G Aye s iS5 <32 | O
0.5 0.5 ALY Ay adatiy Aal sy

2 a2 dadall




